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2008 | 2009 | MHECHH[| 2008 | 2009 | MECHH| | 2008 | 2009 | HECHH| | 2008 | 2009 | HACHH]

518~524 | 6,225 | 8,036 [129.1% | 8,648 | 1,361 | 15.7% | 2,620 | 3,550 |135.5% | 2,398 | 285 | 11.9%
525~531 | 6,764 | 8302 [122.7% | 9,849 | 1,596 | 16.2% | 3,142 | 5175 |164.7% | 3,199 | 388 | 12.1%
6.1~6.7 | 6,821 | 8628 |126.5% | 10,169 | 1,690 | 16.6% | 4292 | 6,265 |146.0% | 3,266 | 512 | 15.7%
6.8~6.14 | 7,583 | 8,780 [116.8% | 9912 | 1,791 | 181% | 4,692 | 5895 |125.6% | 3,432 | 590 | 17.2%
6.15~6.21 | 7,172 | 8,513 |118.7% | 10,354 | 1,987 | 19.2% | 4,529 | 4,945 |109.2% | 2,760 | 693 | 25.1%
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